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- Anumber times 5, minus 6, is 8, Write an equation to determine the number.

Multiple Choice : : 5
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- Use a symbol to write an inequality that corresponds 1o this statement: x is less than or equal to 4
d_a<4
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. _2 7. A number times 3, minus 6, is 8. Write an equation to determine the mamber.
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7. A student solved this cquation: 3x+ 5= 18 =5 o Y= K
a) Circle the errors the student made,
dx+5=18 i
(ﬁ"_ ﬁ(’-} b} Solve the equation in the space provided;
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3, State whether you would reverse the inequality sign (o solve each inequality. 3
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4. Define a variable and write an inequality to describe the situation.

&) You must be under 12 years old to play for the Mini Tommies, X =

b) Student Council must sell at least 45 t-shirts to make a profit. :.:,- = Lf%’ .

3. Graph the solution on a number line.
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